Gome&!iQo!tgrs ﬁ-gx i&

BINEEES] (Total antioxidant capacity, T-AOC) iXFIEiRAAH

M=% 100T/96S
AR ERNEZRNERE 2-3 NHIZE R KRR AR HMFNE .
MREX:
W5 X G S AP HT A R AT BB S S BT R K. TR SE . B2 RZ 2T
PRI . M. MER . RIS PRI, MBS . T B 24
P B & R Y (antioxidant) VA TR ) B P A AL fE
MERIE:
FEMMEEIRE TR, T Fed™-=ntng =nFe T -TPT2)P= LW tul) Fe2'-TPTZ MIRY 1% Mt
T REPUEAERE

B&EXEMAmMR:
TR ARIR 0L TR EETH /B oA St /96 FLARAIZRTRK o
17 2B R FECH -

PREUR: Witk 100mL x 1 )|, {3 .

WA —: A 15mLx 1 I, BEGCLRAT .

RN W 1.5mLx 1 i, 4°CREGIRTE .

WA= WAk 1.5mLx 131, BEOCIRLE.

RAROREIAD: #ialm—. 0= 50 =4% 1001 BB &, AT 37°CHili.
B HI

() iMig. i P B PR VR S AR

M2 CHl& B o] DU A I R BT ig B pist, A B EDTA ikt 4°C, 5000rpm B0
10min, HULIERFI . M3 MERERGFE W B Tle, Wari-80°Ciffy (ANEnt
30 d) JE FIE .,

(2) HBFEN

FBHLAFE (2) « HRBURARmML N 1: 5710 ftef] CERIRENZ 0.1g 4HZE, TnA
ImL 3RBURD HEATUKIBAI3%, SRJ5 10000g, 4°CES.Cr 10min, HX E3E, Bk BRI,

(3) 4 M b

HRBAEEE (10% A - FREOREAF (mL) A 50071000: 1 FILLE] (E2iL 500 754 A0
A ImL $REGRD , UK AR (ThE 200W, HEFE 3s, [HFE 10s, EE 30 X ;
10000g, 4°CE.L» 10min, B FiE, Bk 4R,

BIELE:

1. 6T /BEARA TR 30min, T IEK-Z 593nm, ZEIE/KIEE.

2\ EfER

THE e
RAW (uL) 180 180
FEdh (pL) 6
WZEK (L) 24 18
AR, P 20min, TRUEA JEHEIIL/96 FLIRK, WIE 593nm WJGIE, A A= A me-A =4

AR TEEREMNE—X.
BIMELENHTEAK:

a. FfEA I E i E AR T
PRzt . y=0.8442x-0.0048, R%=0.9979

(D) $EREAF R
PATE X g BEARE MBI FELE 1 pumolFe T -TPTZ 5& SR —ANEE 715407
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MPEALEE S (U/g BEE) = (A A+0.0048) = 0.8442x1000xV FE(V BE-V FERXW)=T
=59.228% (A A+0.0048) ~W
(2) HEFEARE WA
BT E X A mg B AR E 1pmolFe? -TPTZ 5E S —/MigIE 115407
BMITEARE ST (U/mg prot) = (A A+0.0048) +0.8442x1000xV FE+(V FE+V FEEXCpr)+T
=59.228% (A A+0.0048) +Cpr
(3) fempEitsH
BATSE S AN 48 P24 lumolFe? T -TPTZ & XU —/MEgE J1 5040 .
MAEALRE ST (U/10%cell) = (A A+0.0048) +0.8442x1000xV FE+ (V FEV FE S <20 i 5 &
(Jif) ) =T
=59.228% (A A+0.0048) + A% E (1S
(&) FZWARAERT
PURTTE X TR AR 1pmolFe2-TPTZ 58 U — AN IE /7 54
MPTEMRE )] (UmL) = (A A+0.0048) +0.8442x1000+T
=59.228% (A A+0.0048)
VFEE: IIASRBGEARR, 1 mL; V#E: BAFEAERRR, 6ul: T: KBII[E, 20min;
W: FEME, g Cpr: FEABREAKE, mg/mL
b.H 96 LRI E i E AT
FRAEIZE: y=0.4221x - 0.0048;: R2=0.9979
(D) $ZFEARpE T E
PAALE X B g FEAERSMEIFEAE 1 pmolFe T -TPTZ 5 SUA—ANEE 71547
BMITEARE S (U/g B E) = (A A+0.0048) +0.4221x1000xV FE(V FE+V BEEXW)=T
=118.455x (A A+0.0048) +W
(2) AR EARE TR
BT E X A mg B AR E 1pmolFe? -TPTZ 58 X y— /Mg 71547
SPTELLEE ] (U/mgprot) = (A A+0.0048) +0.4221x1000xV FE+(V FE+V FEExCpr)+T
=118.455x (A A+0.0048) ~Cpr
(3) &Mt
ST TE s AN AR A A 1 pmolFe2-TPTZ 58 U — NI /7 B4 .
MPTEALEE T (U/10%cel) = (A A+0.0048) +0.4221x1000xV FE+ (V BE+V FE S e
(A D =T
=118.455% (A A+0.0048) + A E (Ji1)
(3) AR
PR E X B FREAREE A B2 pmolFe? T -TPTZ 5& SR —/NEE 7750407
HPUEALEES) (U/mL) = (A A+0.0048) +0.4221x1000+T
=118.455x (A A+0.0048)
VFEE: MARBGRAAR, 1mL; VFE: KBRS, 6ul: T: KBIASTE, 20min;
W: FEMFiR, g Cpr: FEAKRAKE, mg/mL

EEEI:

Lo 3R o N R, 5 RIBOE SRR It . v 1SR 2 AR, 3 7 S i
TR T E A

2. R A FITEBR TR A6 A T S W B U (5 R R, 253 DR A 7 2 ey e ) 2 SR
.

3. FESHASEEIN Tween. Triton Al NP-40 25 3577 F1 DTT. Sk £ 55 52 i A A0d J5
SR R 5 A o

TS : 4008-898-798  Hi R HF: 13818158258
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